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schooldata=data.frame(y[s},x[s])
> schooldata
y.S. X.8.
595 2.54
354 1.34
431 2.06
695 2.09
608 3.11
5552.21
484 2.09
414 2.04
528 2.71
10 549 2.17
11 5272.03
12 806 3.63
13 594 2.65
14 8904.49
15 627292
16 6922.97
17 372 1.79
18 562 2.33
19 708 3.46
20 777 4.00
> regbeta=sum(x[s]*y[s])-20*mean(y[s])*mean(x[s])
> regbeta=regbeta/var(x[s])
> regbeta=regbeta/19
> regbeta
[11162.4926
> ratio=sum(y[s])/sum(x[s])
> ratio
[1]223.5987
> alfa=mean(y[s])-regbeta*mean(x[s])
> alfa
[1] 160.8007
> regest=mean(y[s])+regbeta*(meanx-mean(x[s]))
> regest
[1]1614.7223
> meanx
[112.793491
> var(x[s])
[1] 0.6281187
> mean(x[s])
[1]12.6315
> 1-20/6194
[110.9967711
> 6174/6194
[1]1 0.9967711
> sigmasg=sum((y[s]-mean(y[s])-regbeta*(x[s]-mean(x[s])))"2)
> sigmasq
[1175766.62
> sigmasq=sigmasq/18
> sigmasq
[1} 4209.257
> sigm=sqrt(sigmasq)
> sigm
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> var(y[s})
[1120572.46

> 20572/20

[1]11028.6

> sum(y([s])

[1] 11768

> mean(y[s])*20

[1111768

> ratio

[1]223.5987

> sigmratio=sum((y[s}-ratio*x[s])*2/x[s])
> sigmr=sigmratio/19

> sigmr

[112571.591

> varestr=sigmr*(6194*meanx-sum(x[s]))*meanx/(6194*mean(x[s]))
> ser=sqrt(varestr)

> serr=sqrt(varestr/20)

> serr

[1] 19.4971

> sig=var(y[s])-regbeta”2*var(x[s])

> sig

[113987.717

> sig=19*sig/18

> sig

[1]4209.257

> d=20*(meanx-mean(x[s]))*2/(19*var(x[s]))
>d

[1]0.04397591

> a=d+1-20/6194

> var=a*sign

> sqrt(var)

[1] 14.79995

> sum((x[s]-mean(x[s]))"2)

[1] 11.93425

>0.512/11.93

[1710.04291702

> var(x[s])

[1]0.6281187

> Im(formula=y[s]~x[s],data=schools)
Error in is.data.frame(data) : object 'schools' not found
> Im(formula=y[s]~x[s],data=schooldata)

Call:
Im(formula = y[s] ~ x[s], data = schooldata)
Coefficients:
(Intercept) X[s]
160.8 162.5

> Im(formula=y[s]/sqrt(x[s])~sqrt(x[s])-1)
Call:
Im(formula = y[s]/sqrt(x[s]) ~ sqrt(x[s]) - 1)

Coefficients:

sqrt(x[s])
223.6



